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<coordSys id="CS5">
<timeFrame><TT/><GEQOCENTER/></timeFrame:>

<spaceFrame><ICRS/><BARYCENTER/><SPHERICAL naxes="2"/></spaceFrame>
<spectralFrame><HELIOCENTER/></spectralFrame>
</coordSys>




coordinate
a sampling

{ScalarCoordinate unit="nl">
{name>B<{ /name><{C¥alue>5.0<{/C¥alue?><{CError>0.2<{/CEkrror>

{/S5calarCoordinate’>

{ScalarCoordinate unit="MHz">
<{name>frequency</name><CResolution>10.2</CResolution’>
{/ScalarCoordinate>




{Position unit="deg">
<name>ICRS</name>
{C¥alue2>14.382 -20.182</C¥alue’>
{CError2>0.182 -1.201</CError2>

{/Position>

{Time>
{TimeInstant>
{TimeScale>TT<{/TimeScale><IS50Time>2004-Sep-30T05:30:00.0123</150Time>
</Timelnstant>
</Time>

{Time unit="d">

{Timelnstant>
{TimeScale>TDB</TimeScale><MJDTime>28503.21231</MJDTime>

{/Timelnstant>

<CError>0.28</CError>

<IfMime>



{coords coord_system_id="CS">
<Time unit="d">
<name?Time</name>
{Timelnstant>

{TimeScale>TDBL/TimeScale><{HJDTime>28503.21231</MJDTime>
</Timelnstant>

{CError>0.28</CError>
{fTime>
{Position unit="deg">
<name>ICR5< /name>
<C¥alue2>14.382 -20.182<{/C¥alue2> <CError2>0.182 -1.201<{/CError2>
{/Position>
{Spectral unit="fingstrom">
<name>lavelength<{/name><C¥alue>4402.3</C¥alue>
{/Spectral>
{/coords>
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